T
6“3*

~ o
Sl
#1355 {7 fm
%
&g A

of 4

s
- S

o

N\

I N AT

1% =
¥ &

@ B 105

1

7 lﬂzﬁ%#—k )3 }?&Ef?
G2 A S

=

&

HEFE R L E P BEXR

B IS g

X ?

AP R ERE TR
I o A F E Bk BT A F

105 % % = T2 = RGOS 5 182 Rt & ot A R A E
PO M RRE 0 A il AeT
PiZ - BB A C BLISIFI A MRS S R ARG oeE E A
Wl L 4.47x107 pra & 2 3.30x107% #ed 2 0 bt~ 4 R Mok A

FETEIMLEHFNITF IFAHINL
107 fca & o — ~ = BLTREM Aokt S B4R E A S

4.61x107 ped 4 MAEHWERE 5§ 4L

105 4 % = % ebpid e e

w) % 4.28x107° fed & 2 3.42x

S LI

B35 % 4.61x107 e 2 o
H > ka2 /%

R E L 4o

Gihs BE 4 AR TR E MEHENET 2 AL
AR |ERUE| ERE | A R |Z2RUE| ERE
a b a/b C d c/d
Bd (D] 447107 | 25 | 1.79x10° | 4.28x102 | 75  |5.71x10"
B (D) 3304102 | 25 | 1.32x10% | 3.42x102 | 75 |4.56x10*
Bk (D 461610% | 15 | 3.07x10° | 4.61x10% | 50 |9.22x10°
BoRUD| 461%10% | 15 | 3.07x10° | 461x10% | 50  |9.22x10°
& - B

|1 £ - 8

1




